CSE 142 Sample Midterm Exam #3 Key

Also check out Practice-It to test solving these problems or to type in your own solution to see if it works!

Expressions
Expression
1+2* 3 - * 5
5/ 2+ 9.0 2.0 -
29 %2 %5 + 34 %3
8+6* -2+ 4+"0" + (2 +5)
31/ 2/ 10.0 + 10 / (5 / 2.0)
(1!'=2) '=(21=3)

4
/ 2 * 1.25

Parameter Mystery

drew saw the felt
sue felt the saw
sue drew the b

b sue the a

drew felt the felt

If/Else Simulation

Method Cdll

nystery(4, 7);
nystery(3, 3);
nystery(10, 5);
nystery(20, 4);
nystery(1l, 1);

While Loop Simulation

Method Cdll
nystery(42, 0);
nystery(6, 12);
nystery(18, 27);
nystery(24, 60);
nystery(50, 15);

N2 oo a0
LOO.)CDE

C

-

=

Output
42

12 6 6
27 18 9 9

60 36 24 12 12
50 35 20 15 10 5 5

Assertions

X > 2 X <n n %x ==0
Point A NEVER SOVETI MES | SOMVETI MES
Point B SOVETI MES | ALWAYS SOVETI MES
Point C NEVER SOVETI MES | SOVETI MES
Point D ALVAYS SOVETI MES | SOVETI MES
Point E SOVETI MES | NEVER SOMVETI MES
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6. Programming (five solutions shown)

public static bool ean enoughTi meFor Lunch(int hl, int ml, int h2, int m) {
if (hl1 > h2) {
return fal se;
} else if (hl == h2) {
return n2 - nil >= 45;
} else if (hl == h2 - 1) {
return 60 + n2 - nil >= 45;
} else {
return true;
}

}

public static bool ean enoughTi meFor Lunch(int hl, int ml, int h2, int m) {
if (h2 > hl + 1) {
return true
} else if (h2 == hl & ml + 45 <= nR) {
return true
} elseif (h2 == hl + 1 & nll - 15 <= nR) {
return true
} else {
return false;
}

}

public static bool ean enoughTi meFor Lunch(int hl, int ml, int h2, int m) {
if (hl1 > h2) {
return fal se;

} else if (hl == h2) { /1 sanme hour
if (m + 45 <= nR) { /1 nmust be >= 45 min apart
return true
} else {
return false;
}
} else if (h2 == hl + 1) { /1 hl is just before h2
if (m - 15 <= nR) { /1 nmust be >= -15 mn apart
return true
} else {

return fal se;

} else { /1 time 1 is > 1 hour before tinme 2
return true
}

}

public static bool ean enoughTi meForLunch(int hl, int ml, int h2, int m) {
if ((hl == h2 && nll + 45 <= nR) ||
(h2 == hl + 1 & nml - 15 <= nR) || (hl < h2 - 1)) {
return true
} else {
return false;
}

}

public static bool ean enoughTi meForLunch(int hl, int ml, int h2, int m) {
return 60 * hl + mlL + 45 <= 60 * h2 + ng;
}
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7. Programming (three solutions shown)
public static void printGid(int rows, int cols) {

for (int i =1; i <=rows; i++) {
Systemout.print(i);
for (int j =1; j <=cols - 1; j++) {
Systemout.print(", " + (i +rows * j));
}
Systemout.println();
}
}
public static void printGid(int rows, int cols) {
for (int i =1; i <=rows; i++) {
for (int j =0; j <cols - 1; j++) {
Systemout.print((i + rows * j) + ", ");
}
Systemout.println(i + rows * (cols - 1));
}
}
public static void printGid(int rows, int cols) {
int n=1;
int countl = 1;
int count2 = 1;
while (countl <= rows * cols) {
if (countl %cols == 0) {
System out. println(n);
count 2++;
n = count2;
} else {
Systemout.print(n + ", ");
n=n+ rows;
}
count 1++;
}
}

8. Programming (two solutions shown)

public static int countEvenDigits(int n) {
int count = O;
while (n = 0) {
int digit = n % 10;

n=n/ 10;

if (digit %2 == 0) {
count ++;

}

}

return count;

}

public static int countEvenDigits(int n) {
int count = O;
while (n > 0) {
if (n %2 ==0) {
count ++;
}
n

=n/ 10;
}

return count;
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